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QUADRATICS

Intercept Form
y = alx - p)x - q)

The x-infercepts are p and q.
These poinfs are where the parabola crosses the x-axis.

The axis of symmetry is halfway between (p.0) and (q, 0).

So, the axis of symmetry is x = %,

The parabola opens up if a > 0 and opens down if a < 0.

Graph a quadratic function in infercept from.

¥ = =(x * I)(x-5)
Step | Tdentfify and plot the x-ntercepts.
C . ) and (. . )

The coordinate pairs must have a y-coordinate value of

Step 2: Calculate and draw the axis of symmetry.
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Step 3: Calculate and graph the vertex.
In step 2, you calculated the x-coordinate. Substitute the
x-coordinate value in order fo defermine the value of .

y==(x+I)x-5)

Vertex: ( )

Step 4 Draw a parabola through the x-infercepts and the
vertex. On your new parabola, label the axis of symmetry,
vertex, x-intercepts and y-intercept.
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Take alook at the parent function (y = x2) and your newly
graphed quadratic function. Compare the two functions.
Examine the vertex of each one.

Did the new parabola shif't up/down (vertical franslation)

Did the new parabola shiff left/right (horizontdl franslation).

Was the new parabdla reflected, or flipped?

\Were the points on the new parabola moved doser (verticdl shrink)
or further away (verticd strefch) from the x-axis?





